wES D
EIES 2020 2 F M

2020PRODUCT CATELOG

ar 4Ky

m)
XFiEESR /AR ES About NUOHENG .

EERESHNMMERADZ—RERIT, #iE, EHSRSA—FHAR
B, EUVEFERREG, TRWIT, SRRERIURTR, AZFR
MR, SN SHTHERTR,

AEUAEEHENENUETRAURSHEZENLELESE, TENE
ANMNFTERPIELRARAR, URBEZTENONRSE, £7F5TL
MERMLRTREHEESMURHORESZER, LRE. £h. 7@k
EMRRAIRSHE U FIAT,

PARFESHELR. BEALX, TERR. BERMHNEEES, X
WERATR KEBEIRRBASURHK!

NUOHENG pneumatic machinery Co.,Ltd is a engineering and design
company,manufacturing metal push in fittings,push on
fittings,compression fitting and other general brass pipe fittings,providing
high quality,innovative solution for tube connection.

Regarding quality and service as the source of enterprise
survival, NUOHENG has advanced automation production technology
including high—precision CNC equipment,full set of testing equipment and
high—quality professional personnel.

We hope to build a mutual benefit and win—win cooperation with
customers and every clients are welcomed for visiting to learn more about
our products and service.

Quality success brand, technology create future.




M)
SOl A % Conenr

2 EERIEEL RS

All metal quick plug connector series

P01-P16

EEREFEELRT

All metal ferrule connector series

FF o R

P30-37

HERELRT

Muffler connector series

CINER]

Valve series
y Neib
P38 -

2ERRITHELRT

All metal quick screw joint series

P17-P29

FEELRT

Pagoda joint series

P38 -

i% 3 & 51

Plug series
@A
P30-37

ERBOERRT

Pipe thread connection series

PR

P38 -

SABBRBRBELE RN A i@

® 4 & /Characteristic

PR PIE R L 5 PAPUSER S A THMANELRS.

Nickle-plated fullbrasspushin fittings are widely usedin pneumatic system with PA,PU pipes.

o [ Bl B 0 Ak 5 SRR 4 A T v o L R IR E R G

Automaticnumerical control processing,witha new structure and oil sealing ringsimplifies the insertion and

removal of pipes.

CEIEWRGE, SR, WEEE.

Quick installation,attractive appearance,space-saving.
o0 e AR LA T DL 360 B i E s, A E.

Rotatable thread body makes connect direction isavailable at360 °after installation.

@ 77§ 45 1) /Structure

o155 (st
Nickelplated brass body __ T (Bi88)
Sleevelbrass)

® = 5, 2 ¥ /Specifications

o5 ()
Nickel-plated brass body

R
Sleeve (brass)

)
Gasket

360 MRS )
Rotatable Thread (brass)

i FH 44 /F luid

5. K CH M) IAir,Water(conditional)

T/ IR J¥ 75 Fl /Working temperature

T.1& Ik /1 7E Fl/Operating pressure 0.095-2.5Mpa
R i /& /1/Negative pressure 1.6Mpa
-30-120C

VE: TR T i o] LU S % B [B M (thematerial of gasket ring canbe changed if higher temperature required )

® # 5 i B /Model description

AOINPC 8 - 01
EY R SEIME RO

Series code Tube size thread

S 4h % /Tube diameter

A il R st/Metric Size
fRfi%code| 4 6 8 10 12 14 16
H 1% DIA | 4mm | 6mm | 8mm | 10mm | 12mm | 14mm [ 16mm

B2 S A% /thread size

55° {E & I247/55°  taper thread size
1k iYcode 01 02 03 04 06
T E/Size R1/8 R1/4 R3/8 R1/2 R3/4

2 il B2 80/ Metric Size

55° HEFIEL/55 G Thread

X% /code M5 M6

M8 GO1 G02 G03 G04

M 5/Size M5*0.8 M6*1.0

M8*1.25 G1/8 G1/4 G3/8 G1/2

2 il 12 81 /American Standard Taper Thread(NPT)

1% /code 01 02 03 04 06
5 /Size NPT1/8 NPT1/4 NPT3/8 NPT1/2 NPT3/4

WWW.zjnuoheng.com|MUOHENG PNEUMATIC /



@Q LABRARET RN

@} fi/Characteristic
SEHERFE M 5 PA-PUSREBE R A AT EMASNERRG R TEH Rk & M IET % .
Nickle-plated full brass speed controlleris widely used in pneumatic system with PA,PU pipes for speed control of
driving unit.
AEHFE M T AR RS E S, BREES .
Automatic numerical control processing,witha new structure andoil sealing ring simplifies the insertion and
removal of pipes.
R, SMEEM, WHETNE.
Quick installation,attractive appearance,space-saving.
Fe e B G AT 77 1M W] 360° B
Thedirection ofthe pipecanberotated at360° after installation.

® 7= 1 45 ¥y /Structure

3L IR /Air inlet controller HA W /Air outlet controller

s FmemE)
Nickel-plated 1
brass body

FrsE)
Sieeve (brass) Sleeve (brass)

® 7" i % ¥ ISpecifications

W

18 F ¥t 44 IFluid 25K (F %1% IAirLiquid(conditional)
T4F [ /13t Hl /Operating pressure 0.1-2.5Mpa
T F i £ i F /Working temperature A0 T
Ve TR o 0T LT 8 B C fgasketring higher required)

® /i = Note

0 R R IR P T A R VR EE R AL — R R SRR, RO A E R T AR A A EN S .
Infully enclosed position,a few air leakage of speed controlleris allowed because of the design.Pleasedorit use
inthe environment required perfect none-leakage.

/www.zjnuoheng.com MUOHENG PNEUMATIC

RGARITREER LT RREET QQ

7 i %2 25 45 7RTips for installing

1P L (pushinfittings)

B ATEBOAE T YT E A, TR T 7R LA TR N R

Beforepushpipein,pleasemake surethe sectionof pipeis verticaland smooth.Please
alsocheckifthereis anyindicatiorof damageon the pipeand dorit useellipticapipe.

SEHNEAE EREE, k- TRERARREEE AT RE.

Trytopullthepipeouttocheckifithasbeeninsertedtightly.

SR T, WHIANETRENE.

Pleasemakesuretheinternabressureof pipeis 0 beforedisconnecpipe.

KB A HER RN R R RS S R BE, RRE T

Pushthetubein meanwhilepressthesleeve,therpulloutthe pipe.Pleasenakesurethe

sleeveis pressedrightlyoritmay causescratchanddamageonthe pipe.

2 By % #E Sk(push on fittings)

SEEREMNE FUNEEE, &7 RELHRULE T RBEEETE .
Beforepushpipein,pleasemake surethe sectionof pipeis verticaland smooth.Please
alsocheckif thereis anyindicatiorof damageon the pipeand dorit useellipticapipe.
SR BN RIRFIEBIEREE.

Insertthe pipeandtightenthenutwithwrench.

SRHE T, EHLNETHNENE
Pleasemakesuretheinternabressureof pipeis 0 beforedisconnecpipe.

e R R E T .

Screwoutthenutandpulloutthepipe.

EER S E T BE RS, RS T S

GBS Bt 41D Ul o [¢:3-8:7% 9]

BRTERSEFRD fEAREE AR SR,

- .
W, BHSE AUSEEAHE—TFER e SRR

EHTRS

www.zjnuoheng.com’ MUOHENG PNEUMATIC /



™

LEBRIGELRI 5e. raw, rex, Pur

LERBRIEELRY] 2. rrw, rew, rug

@

EESH
AVlEBIRIEEERESLNPC ElSModel [L1[S1I[H [ S T [ D1][D2
NPC4-M5 22[ 2|55/ 10 [M5*1| 9 | 4

o NPC4-M6 22| 2|55/ 10 [M6*1| 9 | 4
] NPC4-M8*1 22|27 |10 |M81| 9 |4
| P NPC4-10*1 2327 |12 [M10°1] 9 | 4
t NPC4-01 23]/2|7 |10 |[R/8| 9 |4
NPC4-02 24[2]9 |14 [R1/4]| 9 | 4

u s NPC6-01 2557 [ 12 [R1/8[ 12 | 6
r NPC6-02 25[5]9 [ 14 [R1/4][ 12 | 6

" NPC6-03 22| 5[10| 17 [R3/8 [ 12 | 6
NPC6-04 22[5]11| 21 [R1/2][ 12 | 6

/y NPC8-01 28/5|7 |14 [R1/8 | 14 | 8
b NPC8-02 2869 |14 [R1/4| 14 | 8
Y NPC8-03 22| 6 (10| 17 [R3/8 | 14 | 8
M NPC8-04 22[6[11| 21 [R1/2| 14 | 8
Bosraal NPC10-01 30{5[7 [ 17 [R1/8 | 16 |10
NPC10-02 31/6 [ 9 | 16 [R1/4 | 16 |10

NPC10-03 31/ 8|10 17 [R3/8 | 16 |10

NPC10-04 25811 21 [R1/2 | 16 |10

NPC12-01 30/5|7 |19 [R1/8 | 16 |12

NPC12-02 32|69 |19 [R/4 | 18 |12

NPC12-03 311910 19 | R3/8 | 18 [12

NPC12-04 25/9[11| 21 [ R1/2 | 18 [12

NPC14-02 30{6[9 22 [RI/4| 21 |14

NPC14-03 319 10| 22 [R3/8 | 21 |14

NPC14-04 33[12]11| 22 [R1/2 | 21 |14

NPC14-06 38/12|13| 27 | R3/4 | 21 |14

NPC16-04 35/12|11| 24 | R1/2 | 23 |16

NPC16-06 38[14[13| 27 [ R3/4 | 23 |16

AO2EIBA7 AL NPOC #SModel |L1 H| S T | D1 |D2
NPOC4--M5 21 55/ 2 | M5 | 9 |4

NPOC4-M6 21 55/ 2 | M6 | 9 [ 4

NPOC4-M8 22 7] 2 |[mM81| 9 |4

NPOC4-M10 23 71 2 [M10%1] 9 [ 4

NPOC4-01 23 712 [R/B] 9 |4

NPOC4-02 24 9] 2 |RY/8| 9 |4

NPOC6-01 26 7| 5 |RY/8 |12 |6

NPOC6-02 26 9| 5 |[Ri/4[12 6

NPOC6-03 25 10 5 [R3/8[ 12 [ 6

NPOC6-04 26 11| 5 [R/2[ 12 | 6

NPOC8-01 28 7] 6 |R/8 |14 |8

NPOC8-02 28 9| 6 |[Ri/4[14 [ 8

NPOC8-03 26 10| 6 [R3/8[ 14 |8

NPOC8-04 25 11| 6 |[RL/2 [ 14 |8

NPOC10-01 29 7 | 8 |R1/8| 16 |10

NPOC10-02 29 9| 8 [R1/4[ 16 [10

NPOC10-03 26 10| 8 [R3/8 | 16 |10

NPOC10-04 26 11| 8 [R12 | 16 |10

NPOC12-01 29 7 | 10 [R1/8 | 18 [12

NPOC12-02 30 9 | 10 [ R1/4 | 18 [12

NPOC12-03 26 10| 10 | R3/8 | 18 |12

NPOC12-04 26 11| 10 [R1/2 | 18 |12

/www.zjnuoheng.com MUOHENG PNEUMATIC

WESH
A0 FHIEEIE NPCF REModel |L1 S H S T DI D2
NPCF4-01 [27|12] 10 G1/8 9 | 4
NPCF4-02 [28|16] 125 G1/4 9 | 4
NPCF6-01 [28]12| 10 G3/8 | 12 | 6
NPCF6-02  |30|16] 125 G4 | 12 | 6
NPCF6-03  [31[19] 12 G3/8 | 12 | 6
NPCF6-04 [33[24] 13 Gl2 | 12 | 6
NPCF8-01 [28]14| 10 Gl/8 | 14 | 8
NPCF8-02 |30|16] 125 Gl/a | 14 | 8
NPCF8-03 |31|19] 12 G3/8 | 14 | 8
NPCF8-04 [33|24| 13 Gl2 | 14 | 8
NPCF10-01 |29/16| 10 Gl/8 | 16 | 10
NPCF10-02 |31[16] 125 G4 | 16 | 10
NPCF10-03 [32|19] 12 G3/8 | 16 | 10
NPCF10-04 [34|24] 13 G2 | 16 | 10
NPCF12-01 [30[19] 12 Gl/8 | 18 | 12
NPCF12-02 [32[19| 125 Gl/4 | 18 | 12
NPCF12-03 |33|19] 12 G3/8 | 18 | 12
NPCF12-04 |35|24| 13 Gl2 | 18 | 12
NPCF6-M14 |30(17| 13 M14*15| 12 | 6
NPCF8-M14 |31|17| 13 M14*15| 14 | 8
AOARFEBESHREE NPMF BlEModel [L1|S| H [13] T |[D1|[D2| M
NPMF6 01 [28/16/ 10 Gl/8 | 12 | 6 | M14*1
NPMF6-02 |29/16| 11 Gl/4 | 12 | 6 | M14*1
NPMF6-03 [31[19] 12 G3/8 | 12 | 6 | M14*1
NPMF6-04 [34[24] 13 Gl/2 | 12 | 6 | M14*1
NPMF8-01 |30/19| 10 Gl/8 | 14 | 8 | M16*1
NPMF8-02 [32[19] 11 Gl/4 | 14 | 8 | M16*1
NPMF8-03 [32[19] 12 G3/8 | 14 | 8 | M16*1
NPMF8-04 [34/24| 13 Gl/2 | 14 | 8 | M16*1
NPMF10-01 [31[21] 10 G1/8 | 16 | 10 | M18*1
NPMF10-02 |33[21] 11 Gl/4 | 16 | 10 | M18*1
NPMF10-03 |34/21| 12 G3/8 | 16 | 10 | M18*1
NPMF10-04 [35[24] 13 Gl/2 | 16 | 10 | M18*1
NPMF12-01 |30[24| 10 G1/8 | 18 | 12 | M20*1
NPMF12-02 |34/24| 11 Gl/4 | 18 | 12 | M20*1
NPMF12-03 |35/24| 12 G3/8 | 18 | 12 | M20*1
NPMF12-04 [36[24] 13 Gl/2 | 18 | 12 | M20*1

www.zjnuoheng.com|MUOHENG PNEUMATIC /



@W EERBIEELRI = LERRIBELRY =2 ruw, rew, rur @

B0kl et R fo’i'\_",\;’ge' 'ié . 4.2 10 M5 9 32 AOT R BB RIE= B NPB BEModel [L1|L2) H |[S| T D1 | D2
NPL4-M6  |18|16] 4.2 |10| M6*L | 9 | 4 NPB4-M5 320171 42 1100 M5 [ 9 | 4
) NPL4-01 18[17] 7 12| 7zGy/8| 9 | 4 FEBAIL o5 7 2 wE 2]
—— NPL4-02 18[19] 9 [14|zGl/4| 9 | 4 -
- Hre. NPL6-M5 24|18] 4.2 |[10] M5 | 12 | 6
L% NPL6-01 24[21] 7 |12/ R/8 | 12 | 6 NPB6-02 47125 9 |14\ R1/4 | 12 | 6
ST NPLegs oo 16 T ros Hir o NPB6-03  [47]26] 10 |17) R3/8 | 12| 6
NPL6-04 24|26] 115 21| R1/2 | 12 | 6 ¥
NPLS-D04 2aiZs s 2 Ry2 L 2o NPB6-04 47128| 115 |21| R1/2 | 12 | 6
NeLsos [36el o |17 nve | i | s NS A e B
NPL8-04 26(27| 115 |21| R1/2 | 14 | 8 NPB8-02 52|25/ 9 (14| R1/4 | 14 | 8
NPL10-01 29(23| 7 |12| R1/8 | 16 | 10
NPL10-02  |29/25] 9 |14 Ri/4 | 16 | 10 NPB8-03  |52/27] 10 |17) R3/8 | 14 | 8
NPL10-03 29(27| 10 |17] R3/8 | 16 | 10 ¥
NPL10-04 29]28] 115 [21] R1/2 | 16 | 10 NPB8-04 5229 115 121) R1/2 | 14 | 8
NPL12-01 31[24| 7 [12] R1/8 | 18 [ 12 NPB10-01 59126/ 7 |12 R1/8 | 16 | 10
NPL12-02 31|26/ 9 14| R1/4 | 18 | 12
NPL12-03 31(28| 10 |17| R3/8 | 18 | 12 ‘ NPB10-02 59127\ 9 (14| R1/4 | 16 | 10
NPL12-04 31[29] 115 [21| R1/2 | 18 | 12 ,
NPL14-02 36[31] 9 |14 Ri/4 | 21 | 14 NPB10-03 59|28 10 |17| R3/8 | 16 | 10
NPL14-03 36|33 10 |17| R3/8 | 21 | 14 i
NPL14-04 36[35] 115 (21| R1/2 | 21 | 14 NPB10-04 5930|115 21| R1/2 | 16 | 10
NPL14-06  |36/37| 13 |27| R3/4 | 21 | 1a NPB12:02 |6129] 9 |14| R1/4 | 18 | 12
NPL16-02 37[33] 9 14| Ri/4 | 23 | 16
NPL16-03 37(34] 10 |17| R3/8 | 23 | 16 NPB12-03 61130 10 |17| R3/8 | 18 | 12
NPL16-04 37|35] 115 |21] R1/2 | 23 | 16
NPL16-06 37/38] 13 |27] R3/8 | 23 | 16 NPB12-04 61(31| 115 21| R1/2 | 18 | 12
A0 F B IERIRES L NPLF #lEModel [L1|L2| H S T D1 | D2 AOSFZFBARIRED=1ENPD #lEModel|L1|L3| H S T D1 | D2
NPLF6-01 24|21 8 |14|RC1/8 | 12 6 NPD4-M5 |16|17| 4.2 |10| M5 9 4
NPLF6-02 24|23| 95 |16|RC1/4 | 12 6 g’ NPD6-01 |24|24| 7 12| R1/8 12 6
NPLF6-03 24|25 11 |21|RC3/8 | 12 6 H U NPD6-02 24|24 9 14| R1/4 12 6
NPLF6-04  |24[26] 13 [24|RC1/2| 12 [ 6 NPD6-03 |24]24] 10 |17| R3/8 | 12 | 6
NPLF8-01 2622] 8 14| RC1/8 | 14 8 NPD6-04 |24|24| 115 (21| R1/2 12 6
NPLF8-02  |26|24| 9.5 |16/ RCl/4| 14 | 8 NPGA-AL | 26/27) F |12 RAj8 | 14 | 8
NPLF8-03  |26]26] 11 |21|RC3/8 | 14 | 8 NPDS8-02 126/27] 8 |14] RL/A | 14 | 8
NPD8-03 |26|27| 10 |17| R3/8 14 8
NPLF8-04 26|27 13 |24/ RC1/2| 14 | 8
NPD8-04 |26|27| 115 (21| R1/2 14 8
NPLF10-01 29|23 8 (14| RC1/8 | 16 | 10 NPD10-01 |30(31] 7 |12 R1/8 | 16 | 10
NPLF10-02 |29/25| 95 |16] RC/4| 16 | 10 SR 0y (B (ul Fe T oo | 16
NPLF10-04 29|28 13 |24 RCl/2| 16 | 10 NPD10-04 [30[31] 115 |21| R1/2 | 16 | 10
NPLF12-02 |31|26| 9.5 |16| RC1/4 | 18 | 12 NPD12-02 |31(32] 9 |14| R1/4 | 18 | 12
NPLF12-03 31(27| 11 |21|RC3/8 | 18 | 12 NPD12-03 (31/32| 10 |17| R3/8 18 | 12
NPLF12-04 31(28| 13 |24|RC1/2 | 18 | 12 NPD12-04 |31/32| 115 |21| R1/2 18 | 12

m/www.zjnuoheng.com|MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



@ 2 EBRIBELRT wa. mrw, v, rur SERUBIEL RS as. maw, rex, run @

" A9 Rt SLNPHL BEModel L1 13] H S| T D1 | D2 ALlY BI=BIRLUHRIENPYD EEModel | L1 D1 | D2
NPHL4-M5 [22119] 4 [8] M5 | 9 | 4 NPYD4-M5 |31 4.5 10 M5 9 | 4

NPHL6-01 (29|28 8 [12| R1/8 | 12 | 6 NPYD6-01 |35 7 [12| R1/8 | 12 | 6

s u NPHL6-02 30(31| 10 [15| R1/4 | 12 | 6 NPYD6-02 |37 9 [14| R1/4 | 12 | 6
T NPHL6-03 [33|36] 11 [19] R3/8 | 12 | 6 NPYD6-03 |39 10 (19| R3/8 | 12 | 6

:‘ m NPHL6-04 |34(39]| 14 [22| R1/2 | 12 | 6 NPYD6-04 |41 115 {21 R1/2 | 12 | 6

L i ] NPHL8-01 |30(28| 8 |[12| R1/8 | 14 | 8 NPYD8-01 |50 7 [12| R1/8 | 14 | 8
N ‘] % NPHL8-02 |31(31| 10 |15/ R1/4 | 14 | 8 NPYD8-02 |51 9 |14/ R1/4 | 14 | 8
NPHL8-03 [34|36| 11 [19] R3/8 | 14 | 8 NPYD8-03 |52 10 |19 R3/8 | 14 | 8

NPHL8-04 |36/39] 14 |22 R1/2 | 14 | 8
NPHL10-01/32|29] 8 |12| RL/8 | 16 | 10
NPHL10-02/33|32| 10 |15| R1/4 | 16 | 10
NPHL10-03/36/37| 11 |19) R3/8 | 16 | 10
NPHL10-04/38/41| 14 |22| R1/2 | 16 | 10
NPHL12-01/33|29| 8 |12| R1/8 | 18 | 12
NPHL12-02/33|33| 10 |15| R1/4 | 18 | 12

NPYD8-04 |54 115 |21 RL/2 | 14 | 8
NPYD10-01]53 7 |12| R1/8 | 16 | 10
NPYD10-02| 55 9 |14 R1/4 | 16 | 10
NPYD10-03|57 10 |19| R3/8 | 16 | 10
NPYD10-04|60 115 |21] R1/2 | 16 | 10
NPYD12-01|56 7 |12 R1/8 | 18 | 12
NPYD12-02| 58 9 |14 R1/4 | 18 | 12

NPHL12-03/38(38] 11 [19] R3/8 | 18 | 12 NPYD12-03/61 10 [19] R3/8 | 18 | 12

NPHL12-04/40(41| 14 |22 R1/2 | 18 | 12 NPYD12-04|63 115 |21] R1/2 | 18 | 12

“ALO ERENK BRIEZANPLL BBModel 13L1 H S| T D1 D2 A12 MUiE#EL R NPZR BEModel[L1[12+3] H [S] T [D1][D2
B NPLL4-M5 |120{18]| 45 |10] M5 9 | 4 NPZR6-01 |44| 48 7 |12/ R1/8 /12| 6

¥ NPLL6-01 |25(24| 7 |12| R1/8 | 12 | 6 L NPZR6-02 44| 49 9 [14[R1/4[12] 6
(R, sl s e o) = el s sl
NPLLEod 12531 i o R 1€ | L NPZR6-04 [44] 515 | 115 [21|R1/2[12] 6

NPLLs.01 1231241~ 7 12| Rie 1 1a T8 y ‘ ' NPZR8-01 |50 53 | 7 [12][R1/8[14] 8

e Notioos Toete oo~ 1 s g — —B3 NPZR8-02 |50 55 | 9 [14|R1/4[14] 8
= NPLL8-03 [25[29] 10 |17 R3/8 | 14 | 8 s NPZRE1S 50| o6 | L0 1121 Ry/B | 14] &
NPLL8-04 |25[31] 115 |21| R1/2 | 14 | 8 AT NPZR8-04 50 575 1115121/ R1/2 |14 | 8

z | NPLL10-01|25]24] 7 |12| R1/8 | 16 | 10 NPZR10-01159) 62 | 7 |12]R1/8 1610
NPLL10-02[25/26] 9 [14] R1/4 | 16 | 10 NPZR10-029| b4 | 8 |14 RI/G 16| 10
NPLL10-03 2529 10 |17| R3/8 | 16 | 10 NPZR10-0359) 65 | 10 |19|R1/2 |16 10

NPLL10-04 (25|31 115 |21] R1/2 | 16 | 10 NPZR10-04/59| 665 | 11.5 |21| R1/2 | 16 | 10

NPLL12-01(25/24] 7 [12] R1/8 | 18 | 12 NPZR12-01/60| 62 | 7 |12|R1/8 18|12

NPLL12-0225[26] 9 14| R1/4 | 18 | 12 NPZR12-02/60| 63 | 9 [14|R1/4[18]12

NPLL12-03|25[29] 10 |17] R3/8 | 18 | 12 NPZR12-03/60| 64 | 10 [19]R3/8 | 18] 12

NPLL12-04 |25[31] 115 [21] R1/2 | 18 | 12 NPZR12-0460| 67.5 | 115 [21|R1/2 [ 18] 12

m/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /m



@ LERBMIHIELRY] &2 ruw, rew, rur LERBRIBIEL R =2 ruw, rew, rur @

wESH

Al3 HRiEEE NPU #lEModel| L1 | D1 | D2 AL5 BRIESk NPV BlEModel| L1 | D1 | D2
NPU4 3219 | 4 NPV4 181 9 | 4
NPU6 41112 | 6 ! NPV6 241 12| 6
2 | NPU8 42|14 8 o NPV8 | 26|14 8
[ . NPU10 | 44 |16 | 10 i NPV10 |30 16 10
NPU14 | 51|21 |14 )
—— NPU16 |53 23|16 iw
L
J
Al4 BEZIRHRIE NPM #EModel[[1] L2 | M [D1]D2 Al6 fRIE=1E NPT #SModel| L1 | D1 | D2
NPM4 29| 19 |[M1271[9 | 4 o NPT4 35/ 9 | 4
NPM6 |41] 28 | M14*1[12| 6 30
NPM8 42| 275 | M16*1 [14] 8 NPT6 47112 6
. NPM10 [43] 30 |M181[16] 10 — NPT8 52114 | 8
il _ NPM12 [45] 32 | M20°1 [18] 12 | NPT10 |59 16 10
. NPT12 | 62|18 12

NPT14 |76 |21 |14
NPT16 |76 |23 |16

0|9

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



@ LERBMBIELRY, &2 rrw, res, LERBRIBIEL R, 2. ruw, rew, rur @

Al7 YEURIE=1E NPY FEModel| L1 | D1 | D2 A19 T2 H¥E NPUB BlSModel | L1 | D1 | D2 |d1| d2
NPY4 321 9 4 NPUB4-6 |36 | 9 | 4 |12] 6

NPY6 48 | 12 | 6 NPUB6-8 |41 |12 | 6 (14| 8

3-D1 g1 NPUB6-10 (42 | 12| 6 (16| 10

B '\'I\'PP\;&SO g‘l) 1‘6‘ 180 o NPUB8-10 |43 | 14 | 8 |16] 10

o i : NPUB8-12 (43 |14 | 8 |18] 12

| NPY12 | 58 | 18 | 12 NPUB10-12|44 | 16 | 10 |18]| 12

NPUB12-14|50 | 18 | 12 |21]| 14
NPUB12-16|51 | 18 | 12 |23]| 16
NPUB14-16|53 | 21 | 21 |23| 16

o [N

L2

AL8 ERIEPUE NPXL #I=Model| L1 | D1 | D2 A20 YEIZS 2R IE=1E NPYB BEModel | L1 [D1[D2]d1][d2
NPXL6 49 | 12 6 NPYB6-4*2 48 |12 6 | 9 | 4
NPYB8-6*2 |48 14| 8 |12 6
o NPX'-18 51 14 18 o NPYB10-8*2 |50 | 16 | 10 | 14| 8
L. NPXL10 | 59 | 16 | 10 & NPYB10-6*2 | 50 | 16| 10| 12| 6
NPXL12 | 60 | 18 | 12 NPYB12-8*2 | 58181214 8
‘]3[[ - -—HBU | NPYB12-10*2| 58 | 18 | 12| 16 | 10
|
’:jd;[ di
L]

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



W

BESH

LERBRIEIELRY] 2. rw, rew, rus

A21 TR 1RIFE=1E NPTB AlEModel | L1 | L2 |D1|D2|dl|d2
NPTB6-4*2 4712219 |4 |12| 6

NPTB8-6*2 5212512 | 6 |14 8

NPTB10-6*2 |59 |28 |12| 6 |16 10

NPTB10-8*2 [ 59|30|14| 8 | 16|10

NPTB12-10*2| 60| 30| 16|10 |18 |12

NPTB12-82 |60(30|14| 8 | 18|12

NPTB16-12*2| 68 | 34 | 18| 12|23 | 16

[A22 B EEHRIETORE NPCG | Bl8Model [L1 [ H | T [S1[s2[D1[D2
' NPCG4-M5 |22 | 4 | M5 | 2 |10| 9 | 4
NPCG6-01 | 25| 7 |G1/8| 5 | 14|12 6

NPCG6-02 | 28| 9 |Gl/4| 5 |17 |12] 6

NPCG6-03 |24 |11 |G3/8| 5 |21]12| 6

NPCG6-04 | 25|13 |G1/2| 5 |24 |12 6

NPCG8-01 | 28| 7 |G1/8| 6 | 14|14 8

T NPCG8-02 | 28| 9 |Gl/4| 6 |17 |14 8
& NPCG8-03 | 25|11 (G3/8| 6 |21|14] 8
NPCG8-04 |26 | 13|G1/2| 6 |24 |14 8

NPCG10-01| 28| 7 |G1/8| 8 |17 |16 10

NPCG10-02| 29| 9 |Gl/4| 8 | 19|16 10

NPCG10-03| 26 | 11 [G3/8| 8 [ 2116 10

NPCG10-04| 27 | 13 |G1/2| 8 |24 |16 10

NPCG12-01|31| 7 |G1/8| 10|17 | 18|12

NPCG12-02| 32| 9 |Gl/4| 10|19 18] 12

NPCG12-03| 30| 11 [G3/8| 10|21 18] 12

NPCG12-04| 31|13 |Gl/2| 10| 24| 18] 12

/www.zjnuoheng.com MUOHENG PNEUMATIC

LEEREZELRY za. rrw, rew, Pug @

A23 BEHRIES L O BB NPLG AEModel [LL[L2] H T [s[Dp1]D2
NPLG4-M5 18/15] 5 [ M5 [10] 9 | 4

NPLG4-01 18/19| 7 |G1/8[14| 9 | 4

u NPLG6-01 24121 7 [Gys 14|12 6
/h NPLG6-M101| 24 [ 21| 8 [Mm10%1]14]12] 6
i 33@”‘ NPLG6-02 24123 9 |GL4|17]12| 6
NPLG6-03 24125 11 | G3/8]21]12] 6

NPLG6-04 24126 125[G1/2 26|12 6

e NPLG8-01 2622 8 |G8|14|14] 8

Gastet NPLGS-02 2624 9 |Gl/4]17]14] 8
NPLG8-03 2626 11 | G3/8 21|14 8

NPLG8-04 26|27 125[G1/2 26|14 8

NPLG10-01 |29|23| 8 |G1/8|14|16]|10

NPLG10-02 |29]25| 9 |Gl/4 |17 |16]10

NPLG10-03 |29 27| 11 | G3/8]21|16]10

NPLG10-04 |29|28|125[G1/2]26]16]10

NPLG12-01 |[31]24| 8 |Gl8]|14|18]12

NPLG12-02 [31/26| 9 [Gl4]|17]18]12

NPLG12-03 |31 28| 11 [G3/8|21]18]12

NPLG12-04 |31]29[125]|G1/2]26]18]12

A24 hiEiBsnEE= @4 ORBNPBG | B2 EModel| L1 | L2 | H T S |D1|D2
NPBG6-01 |35(22| 8 |G1/8|14|12]| 6

NPBG6-02 (47 (24| 9 |Gl/4 |17 |12 6

NPBG6-03 |52 26| 11 | G3/8 21|12 6

NPBG6-04 |59 |28 | 125 [G1/2|26|12| 6

NPBG8-01 [35(23| 8 |[Gl/8 |14 |14 8

NPBG8-02 |47 (25| 9 |Gl/4|17|14| 8

NPBG8-03 |52 (27| 11 |G3/8 21|14 8

NPBG8-04 |59 (29| 125|Gl1/2 26|14 | 8

NPBG10-01|{35|24| 8 |G1/8|14|16|10

NPBG10-02|47 |26 9 |Gl/4 |17 16|10

NPBG10-03|52 |28 | 11 | G3/8 (21|16 10

NPBG10-04|59 |30 | 125 | G1/2 | 26 | 16 | 10

NPBG12-01(35|25| 8 |G1/8 |14 (18|12

NPBG12-02(47 27| 9 |Gl/4 |17 |18 |12

NPBG12-03|52 (29| 11 | G3/8 |21 |18 |12

NPBG12-04 |59 |31 | 125 | G1/2 |26 |18 |12

www.zjnuoheng.com|MUOHENG PNEUMATIC /




@ LEBMIHEEL R za. rrw, rew, rur 2EEREHEELRT = @

A25 B T3 NJSC EEModel H A27 — BN NJSD FEModel H D1 | D2
NJSC4-M>5 30 22 4 8 M5 9 4 NLSYD4-M5 22 23 4 8 MS 9 | 4

. NJSC6-M5 | 35| 28 4 8 | M5 ] 12 | 6 NLJSD6-M5]| 28 28| 4 8 | M5 12| 6
‘ NJSC6-01 |40 |31 8 | 12 |[R/8| 12 | 6 NJSD6-01 | 31 32) 8 |12 |R1/8| 12 | 6
do, TE— :@D% NJSC6-02 | 45|32 10 | 15 |R1/4| 12 | 6 NJSD6-02 | 32 35/ 10 | 15 |R1/4| 12 | 6
; Lzl NJSC6-03 | 52|34 11 | 19 |R3/8| 12 | 6 NJSD6-03 | 34 41) 11 | 19 |R3/8] 12 | 6

o NJSC6-04 |58 | 38 14 | 22 |R1/2| 12 | 6 NJSD6-04 | 38 44| 14 | 22 |R1/2| 12 | 6

R NJSC8-01 4032 8 | 12 |[R1/8| 14 | 8 NJSD8-01 |32 32) 8 | 12 |R1/8| 14 | 8
©) NJSC8-02 [45[33] [ 10 [ 15 [R1/4[ 14 | 8 NJSD8-02 |33 | [35| 10 | 15 |Rl/4| 14 | 8
NJSC8-03 |52 |34 11 | 19 |R3/8| 14 | 8 NJSD8-03 | 34 41 11 | 19 |R3/8| 14 | 8
NJSC8-04 | 58] 39 14 | 22 |[R1/2| 14 | 8 NJSD8-04 | 39 44| 14 | 22 |RL/2| 14 | 8

NJSC10-01 | 4033 | | 8 | 12 |R1/8| 16 | 10 NJSD10-01 [33] [32] 8 | 12 [R1/8] 16 | 10

NJSC10-02 | 4534 | | 10 | 15 |Rl/4| 16 | 10 NJSD10-02 [34] [35] 10 | 15 [R1/4| 16 | 10

NJSC10-03 | 52 | 35 11 | 19 [R3/8] 16 | 10 NJSD10-03 | 35 411 11 | 19 [R3/8] 16 | 10

NJSC10-04 | 58 | 36 14 | 22 [R12] 16 | 10 NJSD10-04 | 36 441 14 | 22 |R1/2| 16 | 10

NJSC12-01[40[34| | 8 | 12 [R1/8] 18 | 12 NJSD12-01 34| |32] 8 | 12 |R1/8| 18 | 12

NJSC12:02 (4535 | 10 | 15 [R1/4| 18 | 12 NJSD12-02 |35| |35| 10 | 15 |R1/4| 18 | 12

NJSC12-03 5236 | 11 | 19 [R3/8| 18 | 12 Nallon B8R Al) LL L 0 egel s | o2

A26 RIEBLEEN NJSF MEModel | L1 |23 HL | H2 | S | T1 A28 TR EL IR NJSL FlSModel | L1 |L2 |13 | S |H | T |Dl|D2
NJSL4-M5 |18 10|18 8 | 4 | M5 | 9 | 4

NJSF01-01) 22 | 16 8 8 12 |GL/8 n NJSL6-M5 |20 (112912 4 | M5 | 9 | 4

NJSF02-02| 26 | 20 10 | 10 | 15 |Gl/4 I\ NJSL6-01 [22[16[29|12] 8 [R1/8[ 12| 6

[ NJSF03-03! 32 | 23 11 | 11 ] 19 |G3/8 -l NJSL6-02 |24 [17[29[15|10 |[R1/4[12 | 6
S NJSL6-03 |25(21|29|19 |11 |R3/8| 12| 6

NJSF04-04] 37 | 26 14 | 14 | 22 |Gl)2 NJSL6-04 | 2723|2922 |14 |R1/2|12 | 6

NJSL8-01 |23|15/30|12| 8 |R1/8| 14| 8

NJSL8-02 |25|15|30| 15|10 |R1/4| 14| 8

NJSL8-03 | 2620|3019 |11 |R3/8| 14| 8

NJSL8-04 |28 23|30|22 |14 |R1/2| 14| 8

NJSL10-01 |26 16|31 12| 8 |R1/8| 16 | 10

NJSL10-02 |26 (19|31 | 15|10 |R1/4| 16 | 10

NJSL10-03 |28 2131|1911 |R3/8]| 16|10

NJSL10-04 | 31 (24|31 |22 |14 |R1/2| 16 | 10

NJSL12-01 |19 16|34 |12 | 8 |R1/8| 18 | 12

SJSL12-02 |30 /18|34 15|10 |R1/4| 18 | 12

NJSL12-03 3221|3419 |11 |R3/8| 18 | 12

NJSL12-04 |34 |24 34|22 | 14 |R1/2| 18 | 12

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com‘MUOHENG PNEUMATIC /



@ E2EERIGEEL RS =

A29 fRifseHESL NPZH

B2 Model | L

NPZH4--6

NPZH6--4

NPZH6--8

NPZH6--10

NPZH6--12

NPZH8--6

NPZH8--10

NPZH8-12

NPZH10--6

NPZH10--8

NPZH10--12

NPZH12--6

NPZH12--8

NPZH12--10

NPZH12--14

NPZH12--16

SMFERRITEE =@ A @

® ' fi/Characteristic

EFERRITE LTS PA PUSRERGHEMATEMASNELRS.

Nickle-plated full brass push on fittings are widely used in pneumatic system with PA,PU pipes.
SAEEBHE I L AR

Automaticnumerical control processing

o] iE AR L ik v LIB60 EEE BB, T {E.

Rotatable thread body makes connect direction isavailable at360 °after installation.

oI MAERANEHRFCBRES, EE2eWE,

Installation: Insert the pipeand tighten the nut with wrench,secure connection.

® 7 5 45 /) /Structure

HRETEN)
Lock Nut(orass)

)
Nickel-plated bocy

® 7= i H/Specifications

W

ROREAEE NPFPQ

#EModel

11

S1

52

181 P ¥t A /F luid R WK (5 %4F) [Air,Liquid(conditional)

NP-FPQ:-3

T {F J& J17 F /Operating pressure 0.1-2.5Mpa
T/ 3R J¥ 6 Fl /Working temperature -30-220C

NP-FPQ-4

NP-FPQ:S

NP-FPQ:6

- 5
v iw

NP-FPQ-7

NP-FPQ:8

NP-FPQ:9

NP-FPQ-10

NP-FPQ-L2

/www.zjnuoheng.com MUOHENG PNEUMATIC

® %5 31 /Model description 4N E [Tube diameter

A il R stMetric Size
Ri%code| 4 6 8 10 12 14 16
AOINPC 8 - 01 E1%£ DIA | 4mm | 6mm | 8mm [ 10mm | 12mm | 14mm | 16mm
A5 SESME BLURR 2SR /thread size
Series code Tube size  thread 55° ft & I8 4(/55°  taper thread size
Hcode 01 02 03 04 06
1 5/Size R1/8 R1/4 R3/8 R1/2 R3/4

A il I8 8t/Metric Size 55° HEIE4/55 G Thread
ft i /code M5 M6 M8 GO01 G02 G03 G04
A1 %5/Size M5*0.8 M6*1.0 M8*1.25 G1/8 G1/4 G3/8 G1/2

2 #i 82 27 /American Standard Taper Thread(NPT)
74 /code 01 02 03 04 06
K5 /Size NPT1/8 NPT1/4 NPT3/8 NPT1/2 NPT3/4

www.zjnuoheng.com{MUOHENG PNEUMATIC /



@ RIFIZEL RS =4 rue, regREER RIFIELRT] =4 rue, regREEER @

wESH
BO1 ;E#{RiTassL NKL AIEModel| L |[L1|S1 | S2 T H BOSﬂuk,ﬁ};p&ﬁ%\%NKLL #lEModel T
NKL4-M5 |17 | 18| 8 | 10 | M5 | 4.5 NKLL6--01
NKLGHT o1t T (masl 7= NKLL6-02
NKL6-02 21 | 24|12 | 14 |R1/4 9 NKLL6-03
NKL6-03 | 21 | 26| 12 | 17 |R3/8 | 105 NKLL6-04
NKL6-04 | 21 |27 12 | 21 |R1/2]| 12 NKLL8-01
NKL8-01 25122113 | 12 |R1/8 7.5 NKLL8-02
NKL8-02 25124 | 13| 14 |R1/4 9 NKLL8-03
NKL8-03 | 25| 26| 13| 17 |R3/8| 105 NKLL8-04
NKL8-04 25 (27|13 | 21 |R1/2 12 »
NKL10-01 | 25 |24 | 15| 12 |R1/8| 7.5 mittigg;
NKL10-02 | 25 | 26| 15| 14 |R1/4 9 -
NKL10-03 | 25 | 27| 15 | 17 |R3/8 | 10.5 NKLL10-03
NKL10-04 | 25 | 28 | 15 | 21 |R1/2 12 NKLL10-04
NKL12-01 |26 | 25|17 | 12 |R1/8 7.5 NKLL12-01
NKL12-02 | 26 |27 |17 | 14 |R1/4 9 NKLL12-02
NKL12-03 [ 26 [ 28|17 | 17 |R3/8| 105 NKLL12-03
NKL12-04 | 26 | 29| 17 | 21 |R1/2 12
NKL16-02 | 31 [29| 22| 14 [R1/4| 9 NKLL12-04
NKL16-03 | 31 | 30|22 | 17 |R3/8| 10.5
NKL16-04 | 31 | 31| 22 | 21 |R1/2 12
NKL16-06 | 31 | 35| 22 | 27 |R3/4 15
BO2 PiBLE R T NKLF BEModel| L |[L1|S1|S2| H T B4 thiEMBL E R IT = @NKTB BSModell L [L1[S1[S2] T D
NKLF6-01 |21 [22|12]14| 8 |RC1/8 NKTB6-01 | 39 (21| 12| 12 |R1/8| 6
NKLF6-02 | 2123|1216 | 9.5 |RCl/4 NKTB6-02 | 39 (22| 12| 14 |R1/4| 6
NKLF6-03 |21 26|12 |21 | 11 |RC3/8 ) NKTB6-03 | 39 |23 12| 17 |R3/8| 6
NKLF6-04 | 21|27 |12 |24 | 13 |RC1/2 NKTB6-04 | 39 | 24|12 | 21 |R1/2| 6
NKLF8-01 | 2523|1314 | 8 |RC1/8 NKTB8-01 | 40 | 22|13 | 12 |R1/8| 8
NKLF8-02 | 25| 25| 13| 16 | 9.5 |RCl/4 NKTBg'gg 43 23 g 14 Réfg g
NKLF8-03 | 25 |26 |13 | 21| 11 |RC3/8 NKTB8-03 | 40 | 24 17 |R3/
NKTB8-04 | 40 | 25|13 | 21 |R1/2| 8
NKLF8-04 | 25 28|13 |24 | 13 |RC1/2
HEEIRailoE | e TIl & (Fric NKTB10-01] 47 | 23| 15 | 12 |R1/8| 10
- / NKTB10-02| 47 | 24| 15 | 14 |R1/4| 10
NKLF10-04] 25 [ 29[ 15| 24 | 13 |RCL/2 NKTB12-01 48 | 24| 17 | 12 |R1/8| 12
NKLF12-02| 26 |27 |17 | 16 | 9.5 |RCl/4 NKTB12-02 48 | 25| 17 | 14 |R1/4| 12
NKLF12-03] 26 | 29|17 | 21 | 11 |RC3/8 ~ NKTB12-03 48 [ 26| 17 | 17 |R3/8| 12
NKLF12-04] 26 [ 30|17 | 24 | 13 |RC1/2 NKTB12-04 48 [ 27|17 | 21 |R1/2| 12

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



@ WIFIEL R =4 ruw, reertEss RIFIEL R za: rue, regREEER @Q

EESH
BO5 jmtBaGEE T =@ NKTD #EModel| L | L1]|S1 D BO7 EROOIBLURITIUENKZR ESModel L1]S1S2| T D
NKTD6-01 | 40 |20 | 12| 12 |R1/8| 6 NKZR6-01 41 21|12 |12 |ZG1/8| 6
. NKTD6-02 | 41|20 | 12| 14 |R1/4| 6 - NKZR6-02 | 41 | 21| 12 | 14 |ZGl/4| 6
' — NKTD6-03 | 42 (20| 12 | 17 |[R3/8| 6 NKZR6-03 | 41 | 22| 12 | 17 |ZG3/8| 6
! L } NKTD6-04 | 43|20 | 12| 21 |R1/2| 6 NKZR6-04 | 41 | 23| 12 | 21 |ZGl/2| 6
- NKTD8-01 | 41|21 |13 | 12 |R1/8| 8 NKZR8-01 |42 | 21| 13 | 12 |ZG1/8| 8
T NKTD8-02 | 42 | 21|13 | 14 |R1/4| 8 NKZR8-02 | 42 | 22| 13 | 14 |ZGl/4| 8
NKTD8-03 | 43|21 |13 | 17 |R3/8| 8 NKZR8-03 | 42 | 23| 13 | 17 |ZG3/8| 8
NKTD8-04 | 44 |21 |13 | 21 |R1/2| 8 NKZR8-04 | 42 | 24| 13 | 21 |ZGl/2| 8
NKTD10-01) 50 | 24| 15| 12 |R1/8| 10 NKZR10-01) 43 | 26| 15 | 12 |ZG1/8| 10
NKTD10-02 51|24 | 15| 14 |R1/4| 10 NKZR10-02 43 | 27| 15 | 14 | ZGl/4| 10
NKTD10-03 52 {24 | 15| 17 |R3/8| 10 NKZR10-03 43 | 28| 15 | 17 |ZG3/8 | 10
NKTD10-04 53 | 24| 15| 21 |R1/2| 10 NKZR10-04 43 | 29| 15 | 21 |ZGl/2| 10
NKTD12-01] 51| 25|17 | 12 |R1/8| 12 NKZR12-01 44 | 27| 17 | 12 |ZGL/8| 12
NKTD12-02 52 | 25|17 | 14 |R1/4| 12 NKZR12-02 44 | 28| 17 | 14 | ZGL/4| 12
NKTD12-03 53 | 25|17 | 17 |R3/8| 12 NKZR12-03 44 | 29| 17 | 17 |ZG3/8| 12
NKTD12-04 54 | 25|17 | 21 |R1/2| 12 NKZR12-04 44 | 30| 17 | 21 |ZG1/2| 12
B06 EfiiE= iTiELNKH ElEModel| L |L2|S1|S2| H T | D BO8 fR¥7 58 ) & ) NKSL FlSModel| L2 | L | S1 |S2 | H T D
NKH4-M5 |17 (19| 8 | 8 | 4 | M5 | 4% NKSL4-M5[29 18] 8 | 8 | 4 | M5 | 4
NKH6-01 [22[27] 12 |12] 85 [R1/8 | 6*4 il mgtzmg gz ;g 182 182 : mg g
s L miﬂgjgg 2(7) gg g 13 1(1) E;ﬁg g*j I NKSL6-01 | 40 [23] 12 | 12| 8 |ZG1/8| 6
- . 21 NKSL6-02 | 42 | 26| 12 | 14 | 10 |ZGl/4| 6
NKH6-04 |30 /39|12 | 22| 13 | RL2 | 6% " _ NKSL6-03 | 51 |28 12 | 19 | 11 |2G3/8| 6
NKH8-01 |22 |27| 13 |12 | 85 | R1/8 | 85 q o NKSL6-04 |56 |29 | 12 | 22 | 14 |ZG1/2| 6
NKH8-02 |27 (30| 13 [14[ 10 [ R1/4 | 8*5 = NKSL8-01 |40 [23] 13 | 12| 8 |ZG1/8| 8
NKH8-03 [30[36| 13 [19] 11 [ R3/8 | 8*5 4 [NKSL8-02 |42 |26 13 | 14| 10 |ZGl/4| 8
NKH8-04 [30[39|13|22[ 13 [R1/2 | 85 NKSL8-03 |51 [30| 13 | 19| 11 |ZG3/8] 8
NKH10-01 | 24 [27[ 15 [ 12 | 85 | R1/8 [10%.5 NKSL8-04 | 56 |31 13 | 22 | 14 |ZGl/2| 8
NKG1002 29 30115 1¢ | 10 Ru 106 NSLoor s34 15 {121 ¢ [zots o
NKH10-03 |31 (36| 15[ 19| 11 | R3/8 |10%6.5 NKSLI00s 51 (3| (18| 1L (zea| o
NKH10-04 132 139| 15 ) 22| 13 | R1/2 110%6.5 NKSL10-04| 56 [32| 15 | 22 | 14 |ZGL/2| 10
NKH12-01 |26 27|17 [ 12| 85 [ R1/8 |12*8 NKSL12-01 40 |25 17 |12 | 8 |zGL/8| 12
NKH12-02 |30 30| 17 | 14| 10 | R1/4 | 12*8 NKSL12-02| 42 [ 28| 17 | 14 | 10 |zGl/4] 12
NKH12-03 |32 (36| 17 [ 17| 11 [ R3/8 |12*8 NKSL12-03[ 51 [31] 17 | 19| 11 |ZG3/8] 12
NKH12-04 |34 [39] 17 [22] 13 [R1/2 [12*8 NKSL12-04| 56 | 33| 17 | 22 | 14 |ZG1/2] 12

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



’ M)
@ RITIEL RS &2 rve, regrsEss RITHEL RS &2 rue, regrEEEs poh

wESH
B09 =@ HiT NKT ElSModel| L | L1 | S1 |Dxd(®) [ B11 SMBYEERITHO BB NKCG BEModel| L [H] T [s1][s2] bxd
NKT6 40 |21 12 & NKCG4-M5| 20 |45 M5 | 8 | 10 | 4*2
2y NKCG6-01 |24 | 7 | G1/8 [ 12| 14 | 6*4
R KT8 4123 13 é NKCG6-02 [ 26 | 9 | G1/4 [ 12| 17 | 6*4
s NKT10 46 123 15 10 NKCG6-03 | 27 [11| G3/8 [ 12| 21 | 6*4
[ NKT12 49 | 25| 17 12 L NKCG6-04 | 29 |13 | G1/2 |12 | 24 | 6*4
) " NKCG8-01 |24 | 7 | G1/8 [ 13 | 14 | 8*5
- ]: , e INKcGs-02 |26 9 | Gl/4 |13 17| 8%
N, =1 NKCG8-03 | 28 |11 G3/8 [ 13| 21 | 8%
[ a8y 2 NKCG8-04 | 29 [13| G1/2 [ 13| 24 | 8*5
) & NKCG10-01[ 26 | 7 [ G1/8 [ 15[ 17 [10*6.5

NKCG10-02/ 28 | 9 | G1/4 | 15| 17 |10*6.5
NKCG10-03/ 31 | 11| G3/8 | 15| 21 |10*6.5
NKCG10-04| 32 |13 | G1/2 | 15 | 24 |10*6.5
NKCG12-01) 27 | 7 | G1/8 | 17 | 17 | 12*8
NKCG12-02( 29 | 9 | G1/4 | 17 | 19 | 12*8
NKCG12-03/ 32 |11 | G3/8 | 17 | 21 | 12*8
NKCG12-04| 33 |13 | G1/2 |17 | 24 | 12*8
NKCG16-04| 36 |13 | G1/2 | 22 | 27 |16*12

B10 PUiEHE: NKZA FIEModel| L | S1 [Dxd(®) Bl2 EEARITHORE NKLG BlEModel| L1 [L2| H | T |S1|S2]| DX
NKZAG 13112 6 NKLGA-M5| 17 |15| 5 | M5 | 8 | 10 | 4%2

NKLG6-01 | 21 | 22| 8 |G1/8| 12 | 14 | 6%
NKZA8 45113] 8 NKLG6-02 | 21 | 23| 9 |Gl/4| 12 | 17 | 64
NKZA10 50| 15 10 11

) NKLG6-03 | 21 | 26 G3/8| 12 | 21 | 6*4
1] NKZA12 |52|17| 12

NKLG6-04 | 21 | 28125 |G1/2| 12 | 26 | 6*4
NKLG8-01 | 25|25| 8 |G1/8| 13 | 14 | 8*5
NKLG8-02 | 25 (26| 9 |G1/4| 13 |17 | &5
NKLG8-03 | 25|28 | 11 |G3/8| 13 | 21 | 85
NKLG8-04 | 25 |30|125|G1/2| 13 | 26 | 85
NKLG10-01] 25 26| 8 |GL1/8| 15 | 14 |10*6.5
NKLG10-02| 25|27 | 9 |G1/4| 15 | 17 |10*6.5
NKLG10-03| 25 | 28 | 11 |G3/8| 15 | 21 |10*6.5
NKLG10-04| 25 |30|125|G1/2| 15 | 26 |10*6.5
NKLG12-01] 26 | 27| 8 |GL/8| 17 | 14 | 12*8
NKLG12-02| 26 | 28| 9 |Gl/4| 17 |17 | 12*8
NKLG12-03| 26 | 30| 11 |G3/8| 17 | 21 | 12*8
NKLG12-04| 26 | 31125 |G1/2| 17 | 26 | 12*8
NKLG16-04| 31 | 32125 |G1/2| 22 | 26 |16*12
NKLG16-06| 31 | 36| 14 |G3/4| 22 | 30 [16*12

4-S1

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



wESH

@ MITIEL RS =2 rus,

PEEREEE R

B13 FriEiREGEEIRIT =B OB NKBG| B##EModel

D*d

M)
HRITIEL R &s: ruw, reREEEE I

NKBG6-01

39

22

G1/8

12

14

6*4

B15 EBIRE NKC

Bl7RF HiEBRIT-NKCF

NKBG6-02

39

23

G1/4

12

17

6*4

L NKPG6-03

39

24

G3/8

12

21

6%

39

27

Gl/2

12

26

6*4

Hﬁ%% NKBG6-04
iE NKBGS-01

40

22

G1/8

13

14

8*5

— NKBG8-02

40

23

G1/4

13

17

8*5

NKBG8-03
d

40

25

G3/8

13

21

8*5

NKBG8-04

40

28

G1/2

13

26

8*5

THHE
skt NKBG10-01

47

23

G1/8

15

14

10*6.5

NKBG10-02

47

24

G1/4

15

17

10*6.5

NKBG10-03

47

26

G3/8

15

21

10%6.5

NKBG10-04

47

29

G1/2

15

26

10*6.5

NKBG12-01

48

25

G1/8

17

14

1248

NKBG12-02

48

26

G1/4

17

17

12*8

NKBG12-03

48

27

G3/8

17

21

1248

NKBG12-04

48

30

G1/2

17

26

128

EEModel

L1

Sl

Dxd

NKDG6-01

42

20

G1/8

12

14

6%

BloAHIRKNEE RIFNKCM

B18EHE M RIT-NKLY

NKDG6-02

44

20

G1/4

12

17

6*4

NKDG6-03

46

20

G3/8

12

21

6%

NKDG6-04

48

20

G1/2

12

26

6*4

NKDG8-01

42

21

G1/8

13

14

8*5

NKDG8-02

44

21

G1/4

13

17

8*5

NKDG8-03

46

21

G3/8

13

21

8*5

NKDG8-04

48

21

G1/2

13

26

8*5

NKDG10-01

43

22

G1/8

15

14

10%6.5

NKDG10-02

45

22

Gl/4

15

17

106.5

NKDG10-03

47

22

G3/8

15

21

10%6.5

NKDG10-04

49

22

G1/2

15

26

10*6.5

NKDG12-01

44

24

G1/8

17

14

12*8

NKDG12-02

46

24

G1/4

17

17

12*8

NKDG12-03

48

24

G3/8

17

21

12}8

NKDG12-04

50

24

G1/2

17

26

12*8

/www.zjnuoheng.com MUOHENG PNEUMATIC

www.zjnuoheng.com|MUOHENG PNEUMATIC /



' M)
@ RITIEL BRI =4 ruz, regrizaR RITIEL BRI =2 rue, regriEEE hobld

wESH

B195 B AHITNKLB B21K/NLHUTEIENKCS B23-R (RS HT =BNKTZ B25/5 BT =@NKTB

B20tR{TEIBNKCS B22[E =B RITNKTY B24i8REUiRIT = BNKTP B26RITFREENKM

/www.zjnuoheng.com MUOHENG PNEUMATIC Wwww.zjnuoheng.com|MUOHENG PNEUMATIC /



®
@ RIFIZL R ma: rum, rerrEss

B2775 R iR{TIUENKZB

B2 {RIITERANKLM

B28RRITEENKCM

/www.zjnuoheng.com MUOHENG PNEUMATIC

BHFERLRI =s pwusn @

EO1EEEERENFC

E03E= i EARENFL

E02&EERENFU

EO4-RE=JBNFT

www.zjnuoheng.com|MUOHENG PNEUMATIC /



@ HERERLRY = snesess BEFEZELRY ea snususn @

BESH

EOSEIFTEESANFLU E07&RimRFEZNFDL E09 &ix=1BKENFDB E11 EEZLNFDLL

EO6RinREEBENFDC E08=1EFE NFDT E10 EBRE&ZNFDU E12 REREFETRENFSL

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



P i i 4% 3k 2 5 @

E13 £BYENFDZ E15 £EPENFDS E17 #RiHERKN-EELNEKL E19 Mo BECEENY

El4 AFREEENFDF Ele &imMiRK-REBENEK E18 THiTs MO ECaRNY T E20 jHEXEAFEENYCV

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



QD WEY OEZRS

EWESH

WEY DEZRS \ FER5 i@

E21 fREY OEBNSC

E23 & OEENSU

E25 $REY O=ENST FO02 jEEERAFENBHL

E22 T TIELNSL

E24 f3EH OELNSLL

FO1 FHEEBELNBC FO3 YREHE=IENBY

/www.zjnuoheng.com MUOHENG PNEUMATIC

www.zjnuoheng.com|MUOHENG PNEUMATIC /



@® EERTI

EESH

FO4 TR.EE={ENBT

FO6 BEfRFEHERELNBL

FOS JEEEE=HENBHC

FO7 MY @=EtE#ELNBZB

/www.zjnuoheng.com MUOHENG PNEUMATIC

S5 25\ K B R @

FO08 WA EIEEIBNBCF

GO1 HFEENXSQ

FO9 EHEHENBU

G02 FLiEA=ENPXSQ

www.zjnuoheng.com|MUOHENG PNEUMATIC /



@® iH A 2 51

wESH

G03 BiEBEAERNTXSQ

GO5 HESIBETAREBENPXJB

G04 HISEETRIMARNPXJA

G06 A7 FAEINDT

/www.zjnuoheng.com MUOHENG PNEUMATIC

GO7 4hNfatENDTW

G09 WABEDHZEHBEELINDTY

G08 S FEDHREIEIEINDTE

G10 IFHELNDTH

WWWw.zjnuoheng.com|MUOHENG PNEUMATIC /



HO1 1E[EENZH

HO3 AZFEREkIENDQF

"

L

HO2 EREENCV

HO4 RSMEWREKIENDQ

/www.zjnuoheng.com MUOHENG PNEUMATIC

HO5 KAREKENCQF

HO7 B#itRiESLC,

HO06 EEFFXRNCQ

HO8 B itRiEREKAT

www.zjnuoheng.com|MUOHENG PNEUMATIC /



@ ERBLERRT ERBLGERRT @

JO1 ShFHELNCY J03 FFELNFY JO5 #MHNBX J08 WFZLNYLF

102 ZEINFEANBCY 104 ZRAFEINBFY J06_PIShTFRESLNWY 109 SAFBANYL

/www.zjnuoheng.com MUOHENG PNEUMATIC www.zjnuoheng.com|MUOHENG PNEUMATIC /



@ ERBAEZRT

wESH

J10 RSPFLNYLB

J12 SNF=BNYT

EHBAEZRT

J14 FHHRIYENYFB

J11 RF=ENYTF

J13 EBPUENYZB

J15 SRAF=ENYTK

/www.zjnuoheng.com MUOHENG PNEUMATIC

WWwWWw.zjnuoheng.com|MUOHENG PNEUMATIC /



